Multiplying 1 digit by 2 digits (IT)

A E X I s Y TNE W TH
NV V NE E TR I H TK
E TETIL UE A WWO W
EHMTIF V NDE W A D
T 6 B J Y ¢ N T D s 7

I Yy ¥y b O X P Y E NL J
N TP NI MUZ F V AP
N F E S R X KU B O E H
S I X TY S EV E N U S
U F OR T Y T WO L € R
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Calculate the answers and find the first 2 digits of your answer in the word search.
Example: 5 x 85 = 425. So find humber 42!

2x31= 3x89 = 1x84 =
4x53= 5x85= 6x33=
3x25= 7x11= 2x25=

9x65= 9x75= 4x33=



Solution

+ EX I SYTNEWT +
N+ VNEETRTIHT+

ETEI+ + + + + W O +
EH+IF++ +EW+ +

TG+ +GY +NT+ + +

EI+++HTY+ + + +
NEVESYTNEVES

I Y ++ 00X+ YE+ + +

NT+ NI+ + + FV + +

+ FES+++ + + OFE +

S I XTY S EVENTUS
+ FORTYTWO+ + R






